
MEHIO dnn uxcflclno4Htacc
HauMenosaune 6lrc,qa

cJuemaHHo-mouamuatit

Kounom tn ceeilcux n6nox

Xne6 nuteuwtuatit

MEHIO dnn uawuxcfl c 5 no 1l rylls
Hanmenoeanue 6lrcaa

uK&oenbKu

Cov c c,uemanuo-mouamnu il

Ko.unom us cgeilcux n6nox

Xne6 nweruuvuttit

fl I (fp)

MEHIO dna au4uxcfl c OB3 c I no 4 wtacc.l

Hanuenoeauue Olroaa Bbtxoa (rp, EerKIr (rP) )l{Hprt (rp) )'fneBorlbl '.)l[ (f p) I tena

30//10/15 6,27 t0.8 1.t,60 189 2u,18

200//8 6,90 I 0,50 31,00 248 19,52

<ot 180 5,90 3,60 9,20 t<< <, 30,60

200 2,90 3,20 15,00 9l,00 I 1,84

Cvn nafiut'ril
(Dpuxadentxu n/dt nqou nP

C oy c cu emawto- mou amn ait
Muxaponot omea?uue

Ko,unom us ceeilcl.N n6nox

60 I,38 0,20 8,60 34,00 22,91

200//40 9,30 7,80 18,10 I 43,00 44.40

100 13,60 15,40 12,80 215,00 45,1I

25 0,50 4,60 I,80 54.00 9,83

180 43,2 269 1.t,40

200 0,35 0,18 t 3,44 57,0t) 7,30

30 2,30 0,30 t 4,60 70,00 2,59

- tue6##{'ou 20 0,90 0,24 7,80 40,00 t,73

57,:t (r1,32 t 90,1 1595,52 23 7,48

MEHIO dn wuxcn c OB3 c 5 no lJ rulocc

HaHMeHoBaHne 6rrona Bbrxoa (rp) Se,rKrt (rp) )I(Hprt (rp)
Yrlesoaut ')ll (rp) I leur

30//10/l s 6,27 10,8 r {,6 189 28,18

w. 220/n0 7,60 12,60 43,00 28: 22,78

/Iozvpm *ronoqHuit 2,5% ucuqnocmu 180 5,90 3,60 9,20 30,60

200 to Jrl 15 9l I 1,84

t00 2,00 0,32 10,60 5,{.00 JB.,I8

Cyn pafiuuil 2s0//s0 9,30 7,80 t 8,l0 t 13,00

100 13,60 15,40 I2,80 24 5,00 4 5,1u

)s 0,50 4,60 1,80 54,00 9,83
v yL ufa 9. r.w.

Maxapouat omeu?uue
If ^.,-^w t'o nonluttv o6nnv

200 7,90 8,40 48,00 299,00 14,89

204 n ?s 0,18 13,40 57,00 7,30

Xne6 nueuu,tttt'tit 40 3,1 6 0,40 i,9,40 9 5,00 3,46

20 0,90 0,24 7,80 40,00 I,73
Fn.

lCroro 60,38 (r7,5-l 2l J,70 l 70{,52 269,22


